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Method #2: Stacking 

 
 

 
 

 You Try #1  
 

Guess Method 
 

Stacking Method 

2 6.50

−2.00 1.00

4.50
−2.00 1.00

2.50
−2.00 1.00

0.50
−0.20 0.10

0.30
−0.20 0.10

0.10
−0.10 0.05

0 3.25

 

 

 
 
 
 

0.05
0.20
1.00

3 3.75

− 3.00

0.75
−0.60

0.15
−0.15

0

 

1.25 
This method looks very similar to the traditional method.  We are showing all 
of our steps separately and in decimal notation.   
Let’s start with our dividend, what number is in the 1’s place? 
[3] 
 
How many times can 3 go into 3? 
[1] 
 
Multiply 3 by 1.00 and then subtract.  Then look at the tenths place. 3 will have 
to be multiplied by a number smaller than 1. How many times does 3 go in 7? 
[2] 
 
So we will multiply 3 by 2tenths.  What is 3 times 2tenths?  
[6tenths  or 60 hundredths] 
 
Subtract that from 75hundredths, and you will get 15hudredths. Now finish up 
the rest of the problem. 
 
(Debrief the answer and make any necessary mitigations)  

 

0.05
0.20
3.00

2 6.50
−6.00
0.50

−0.40
0.10

−0.10
0
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 You Try#2  

 
Guess method without decimals 

 

 
Guess Method with decimals 

 
Stacking Method 

   

 

3 28.35
− 3.00 1.00

25.35
−15.00 5.00

10.35
− 6.00 2.00

4.35
− 3.00 1.003.00
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Part 3: Dividing a decimal by a decimal to the hundredths and thousandths 
 

Guess Method 
 

Stacking Method 

  

 
You Try #3 

 

Guess Method Stacking Method 
  

2.4 15.12
− 4.80 2.00

10.32
− 4.80 2.00
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Date: ____________ 

Warm-Up 
 

CST: 4NS 3.4 CST: 5NS 2.2 
 
 
 
 
 
A   845 
B   854 
C   945 
D   954 
 
 
 
 
 
*Solve this problem 2 ways. 
 

 
 
 
 
 
 
A   2.05 
B   2.5 
C   20.5 
D   25 
 
 
 
 
 
*Describe common errors for two answer 
choices. What is a good mitigation for 
fixing these errors? 

CST: 5NS 2.2 CST: 5NS 2.2  
 
 
 
 
 
 
A   89 
B   843 
C   925 
D   965 
 
 
 
 
 
*Which answer could you immediately 
eliminate? How could you teach others to 
eliminate incorrect answers? 
 

 
 
 
 
 
 
A   0.513 
B   0.63 
C   5.13 
D   6.3 
 
 
 
 
 
* How are answers A and C similar? 

 

42 3 2835  
31 What is the answer to this division 

problem? 
 

12 246  

31 29 35,705 ÷ 37 =  

35,705 ÷ 37 =  

15.12 ÷ 2.4 =
 


